1 MM, =(1, =2, =2), —2M,M,=( -2, 4, 4).
2= (i1 ) = (i)
3. A: VEMR, B: VEMNR, C: IIEBR, D: MEER.
- 20y VT ERSEARRR A 0, yOz SF-TH E AR AR A O, 20x T s iU REAR AR R O, o
Bh BRI REARAR S O, y Bl R . NARERE O, 2 BTG SR GhARAR N O.
A: xOy TH, B: yOz T, C: x §li, D: y %l
5. ()xOy M (a, b, —=¢), yOz1Hi: ( —a, b, ¢), z0x [f: (a, =b, ¢);
()x%h: (a, =b, —¢), y8li: (=-a, b, —¢), z8l: ( —a, -b, ¢);
3)(-a, =-b, -c).
6. xO0y Ml (x5, Yo, 0), yOz 1 : (0, vy, 2,), 20x T : (%,, 0, z,).
x i (%,0,0), y@EH: (0, 5, 0), z 4. (0,0, z).
7. LA Py TAT T B LA BRSSPy 411, TA7 T <0y WOGTT, BASHR S Py M

~

8. (iﬁa, 0, 0), (O, i@a, 0), ( i\/éa, 0, a), (0, iéa, a)-

2 2 2 2
9. x$£|3; «/34;yi-[;[5|5]: «/41;21-[;[5]5]:5.
5 38
10. (0, -3 9).

1. JEB: [AB1P=(10-4)2 +( =1 -1)* +(6-9)* =49,
|BCIP=(2-10)2+(4+1)% +(3-6)? =98,

AC1 = (2-4)* + (4=1)2 +(3-9)> =49,

L [AB| = |AC|, AABC JR51E=fi .

U | = I S 1 2m o, 3w om
12. ‘MIMZ‘—Z,COSOL— 2,@05[3— 2,cosy—z,a—3,ﬁ—4,y—3.

13. (1) 7E yOz 0 FBCPATT y0z 185 (2) 5 y ShilE )5 (3) P47 T 2 4l
14. 2.

15. A( -2, 3, 0).

16. Prja =13, 7j(y #ll L),



